
1)

A B = 36
Find the Angle at side A.

Answer: ____________

2) Simplify 5:19

Answer: ____________

3) 2% of 43

Answer: ____________

4) 2% of 43

Answer: ____________

5) 54.5 - 79.4

Answer: ____________

6) Simplify 17:1

Answer: ____________

7) 57% of 20

Answer: ____________

8) 78 - 42.8

Answer: ____________

9) Find the mean of the following set of data:

18, 8, 3, 0.9, 9

Answer: ____________

10) 71 * 717

Answer: ____________

Total: ___ / 10
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Answers:

1) 144 2) 5 : 19 3) 0.86 4) 0.86 5) -24.9 6) 17 : 1 7) 11.4

8) 35.2 9) 7.78 10) 718
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